SUMMATIVE ASSESSMENT -1 (2011)

Haferd Te—| 470021
SCIENCE / fasm
Class — IX / Sh&IT— IX
Time allowed: 3 hours Maximum Marks: 90
feiRa w9 : 3 gve HTH 3H : 90

General Instructions:

(i) The question paper comprises of two sections, A and B. You are to attempt both
the sections.

(ii)  All questions are compulsory.

(iii)  There is no overall choice. However, internal choice has been provided in all the
five questions of five marks category. Only one option in such questions is to be
attempted.

(iv)  All questions of section A and all questions of section B are to be attempted
separately.

(v)  Questions 1 to 3 in section A are one mark questions. These are to be answered in
one word or in one sentence.

(vi) Questions 4 to 7 in section A are two marks questions. These are to be answered
in about 30 words each.

(vii) Questions 8 to 19 in section A are three marks questions. These are to be
answered in about 50 words each.

(viii) Questions 20 to 24 in section A are five marks questions. These are to be
answered in about 70 words each.

(ix) Questions 25 to 42 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you.

= A

(i) 39 YT 9= BT &I 91, 9N 3 3R 90T § § dicl AT 2 | MUHT S IR & U & SR
fora £ |

(i) ) geq arfard €1

(i) W UHA 939 W DS T99 U 8] & WRg Yra—did D! & ufa gt 7 fiady = fean
21 39 Ul # 319 Hae va Hiadl T99 & o forad & forg g7 o 2|

(iv)  SmI®T ¥IT o1 iR 9FT 9 & 9l el & Sk JId—9dd foras 8 |

(V) Taa%ue:rﬂ'@m1ﬁsa%qu—wa"cﬁfﬁ%*lsﬂcb\smﬂwzleqawwwamﬁ
|

(Vi) 9T 31 & U GAT 4 | 7 & U QI-al 3l & & | $HP S} I ITHIT 30—30 &l H o B |

(vii) gW&EﬁWﬂ'@ﬂsﬁmiﬁWEﬁﬁ—‘cﬁ?aﬁ@%lsﬂm SR ST 50—50 W&l § o
|

(Viil) 9T 31 & U9 AT 20 & 24 & UIH UMA—Uid 3Pl & & | b SR T 70 &l H < B |
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(ix) 9FT 9 & ged AT 25 H 42 & U YANHG DI W ARMRGT dgfddhedl Ue ¢ | IAD
Ue U& 3% &1 2| Ry T IR fwedl # 3 3Mud! dad U6 999 STYad fdbed g 2 |

Section A

1.  Givereasons to explain why it takes longer to dry wet clothes in humid weather ?

1 HRT ¥ T o1 d § i) el ol gEn § quy sifus o § 2

2.  You are applying force on the pan of single pan weighing balance and the pointer points to
100g. What is the force in newtons applied by you ?

39 T UoTe a1l goll & Jae T a1 ol & 8 91 ol &1 gaF 100g Sifhd Ll &1 9 g
feRa =g o1& oI A7 Uitehferd whifsa

3. Name the organelle of the cell which has membrane bound sac filled with powerful digestive
enzymes. Write its any one function in the cells ?

39 IR 37T 1 A fafed gt faeet Jaa gfew ¥ wfsdenedt eaaRt Tomed B &1 36
HITSTERT T ohig Tk Tohtd foarad |

4.  Solubility of potassium nitrate at 313 K is 62 g. What mass of potassium nitrate would be
needed to produce a saturated solution of KNOj; in 50 g of water at 313 K ? What is the

effect of change of temperature on the solubility of a salt ?

IR g ORI 313 K W62 g § 1 313 K TS 50 g H KNO, 31 €q@ foerd a1 M
& ferg dfery Agge & fohd Soa0H it STTavashal et 2 fRet oeror Y Sereiierar W ard gied=
T FIT YA IS § ?

5.  Gravitational force is known to exist between all bodies in this universe. Due to
existence of gravitational force between the earth and the moon, moon should
experience a pull towards the earth and vice versa. Do you expect the orbit of the moon
to change due to this force of attraction ? Give reason in support of your answer.

T4 fova & e fie o o TEemRy o 9 o a1 § | geal qe IS % S [EeTRy vl 9 6
KT =T <h! Gt skl X TAT Y2fl hl T=HT i 3T STRYT T SIHS KA1 A1 TH AR
ST S HROT FAT AT 5T bl Tl | IR i STUT i & 2 370 I H1 Y HRU Afga
IS |

6. Give reason for the following :
(@) Mitochondria are known as power house of the cell.

(b) Mitochondria are able to make their own proteins.
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10.

o oo [aW e SlaN
frefafaa o R s -

(a) ATEershiT-g A IRt o1 fotell =R 2|
(b) HESTHRIT-EAT ST U T &1 od & |

Mention the location of apical meristem in plants ? Name the tissue responsible for movement
of body.

i F e faveiae el I ST & 7 39 ek o1 AW fared Sl gaR YRR B 179 o ford Saert
g

Give reasons for the following :

(@) Why does Ice float on water ?
(b) Why does a gas fill completely the vessel in which it is kept ?
() Latent heat of evaporation of two liquids A and B is 100 J/kg and 150 J/kg

respectively. Which one can produce more cooling effect and why ?
=1 & R g
() I I H T A § 2
(b) T 19 1 99 a4 § @1 S o 98 36 0 b WS 8 7

©) 2 2 A 3R B i AT i T BT HAL: 100 J/ kg 150 J/kg B 1 S § |
F AT I Sca=l HaT AR 41 2

(@) Name the technique used for separation of those solutes that dissolve in the same
solvent.

(b) Give any two applications of this technique.

() 39 qhdies o1 T fafed feeh gra o oo werelf =i gk foran san & S e & wehR
% foremae o ¥t 2 ¥ |
(b)  TE Tehrlh h hIE TN SIHANT feAfe |

Draw the shape of the distance-time graph for uniform and non - uniform motion of object. A

bus starting from rest-moves with uniform acceleration of 0.1 ms *for 2 minutes, find :

(@) the speed acquired.
(b) the distance travelled.

foreht file =t T 7ifa &R staam 71fa & fore g-aw= 7T &t oTrRfa Sifed 1w o formmeeen
T YR B 0.1 ms 2o THEHN @R 4 2 fiee 7o 1fd ol §1 36k 51 (a) 31Sa =1t qen (b)
el T8 g4 IRehferd shifse |
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11.

12,

13.

14.

15.

16.

17.

18.

What is meant by inertia ? Why do we jerk wet clothes before spreading them on string ?

S § 1 AU € 2 Tt % W e F T el 9§ Uect 79 Tiel US4 e § 2

Derive an expression for acceleration due to gravity on a planet of mass M and radius R.

T TR T I TG hITC T 78 i 531 R 3R g9 M T |

A bullet of mass 20g is fired from a pistol of mass 2kg with a horizontal velocity of 150m/s.

Calculate the recoil velocity of the pistol.

2 kg T 1 TRl e | 20 g T 7t 150 m/s & &Afdst o7 9 A St 81 foed &
GfA&TIUT-o1T Sl IRERfed HRIfST |

A ball is gently dropped from a height of 20 m. If its velocity increases uniformly at
the rate of 10 m/s2, with what velocity will it strike the ground ? After what time will

it strike the ground ?

T 73 1 20 m T 9 § FIREN <11 €1 .9 98 10 m/s2 % THAHH ed gU 9 § geaft i iR
It ® a9 gedt & TRt R TR A7 1 BT a1 Yeult W Uge | 9 foha wHa ot ?

List any six characteristics of parenchyma tissue.

ThIEHT ek o fordl ©: A= bt = ST

Draw labelled diagrams to show the difference between the structures of any two types of
muscle fibres.

fer=gl <1 U=l a3t k1 T § 9 I <k fo7T g9k AmifeRa fost Efifaw )

What is osmosis ? What happens to a cell when it is placed in hypotonic, isotonic and
hypertonic solutions respectively. What is plasmolysis ?

TR SR €27 TR hif¥ent o1 o BT € ST S§ hyT: S7ed YUHRYT STell, TN 99T SAfaaireron
Tl foeraql o T S g7 e geag e | e ?

Name two Indian breeds of cow. Mention two type of food requirements of milch animals.

TE T IS QI IRAE A& o AW fafed | g o 91l WRE o SRR I SAEEIHAl 6 al YR
fafe |
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19.

20.

21.

(a) Name the months during which Kharif crop is grown.

(b) List any four factors for which crop variety improvement is done

@)  TU% & wHA 5 TR H S ST § ST T4 fated |
(b)  HEA i fRE H GUR H TRzl =R hehi ! Gt oHET

Describe with the help of a labelled diagram, how is a mixture of water and kerosene
separated.

T AHifRd o= ot e @ aviA RS fom i den fagt & I % g w1 9 gesk foman s ¥ 2

OR
Describe with a labelled diagram, the method of separating components of black ink.

e, AHifeRd o3 61 TRl § el T & Saddi sl 9o KL i fafy 1 9o Hifw)

(@) What temperature in Kelvin scale is equal to 50°C ?
(b)  Describe an activity to show that rate of evaporation increases with surface area.

(c) State two differences between evaporation and boiling.

(a) 50°C A9 I hfced TAM H ARG HIfT |

(b) T ToRATRATT GRT SATEAT HhITSY foh fohel TerR HART &1 916+ IR aTSHIehaol &t TX off 91
ST 1

(c) STSeRTEr qe e H 91 W T Fife

OR
(@) Why does the water kept in an earthen pot become cool in summer.

(b) Draw a well labelled diagram showing sublimation of camphor.

()  Convert: 340 K to degree Celsius.

(@) THAT = H T ot 31 i 2 1§ 2

(b) Y h HEAU sl UG B Tk = fo3 3Tfad hifse |
(©) 340 K 9\ @i ° C H YR HIfST |

(@) Define momentum of a moving body.

(b)  Give the SI unit of momentum. Name the physical quantity which determines its
direction.

(c) How much momentum will a dumb - bell of mass 10 kg transfer to the floor if it falls

from a height of 80 cm ? Take its downward acceleration to be 10 m/s2.
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ferslt fig o Hort =l afwifed IS |

ot 1 S Ak fafed | 39 Sifqe it o wm fafed s gam w1 feen fuffa s €
afg 10 kg 1 ST 80 cm i 9 | FY W R 1 98 Wt 1 feraen wam Temmand
M ? (SHHRI A1 it IR I @RI 10 m/s2 HH Sitoid)

OR
State Newton’s second law of motion. Give its mathematical expression and hence

define the unit of force.

=12 1 T w1 fgdta fram fafew | sae Tftrde s fafen IR 9a & 9 o1 aikefia
IS |

(b) The velocity time graph of a ball of mass 20g moving along a straight line on a long
table is given below. How much force does the table exert on the ball to bring it to
rest.

[

time () —
(o) =1 fepet erwsll WS W HLe @ o ST A 20g FeqHH i fhHl i Sl S -999 U6
feamman B 3@ i 1 fommereen § @M W fore O g Y W AR Sel 1 it

y
A
20
T 15—+
10—+
T
em/s) |
I I i I | X
0 2 4 6 8 10
Tl (s) —
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23. (a) Derive the equation of motion v =u + at, using graphical method

(b) A train starting from rest attains a velocity of 72 km/h in 5 minutes. Assuming the
acceleration is uniform, find
(i)  The acceleration

(ii) The distance travelled by the train for attaining this velocity.
(a)  UT GRI TTid <1 FHIHTUT V = u + at eIl hIfST |

(b) T Y@mE! farmmaEen § =were 5 faee § 72 kmh ~1 1 97 Wt 3t § | 4S89 9% 9H
& fof Yol SR @ U T © @ A1 i

(i) ©R9
(ii) I A I KA & feIq Termel gR1 @ <kl € g |
OR

The distance - time graph of two trains are given below. The trains start simultaneously
in the same direction.

Y
A A
200+ B
é 150 -mcmercmenereee
5 s
7 100 4===-------- "'"*:R
Q a
0T i
: iS I X
time (h)

i)  How much ahead of A is B when the motion starts ?

if) What is the speed of B ?

(

(

(iii) When and where will A catch B ?

(iv) What is the difference between the speeds of A and B ?
(

v) Is the speed of both the trains uniform or non uniform ? Justify your answer.
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< Yermtedt 1 gl-a9a U <= foan 0 7, Yot we e U @ faen | oy 2t €

Y
A A
200+ B
7 150 4------ememee- Q
P s
%’ 100 4==<---==--- R
50+ i
: iS t » X
0 1 2 3
g (H H)

(i) T STRY T T S B WEHEl A § foham 31 82
(i) B =T FME?

(iii) S AT HET A , BRI THS M 2

(iv) ATUIB i =1el H A SR B ?

(v) S XAMTeal shi =Te Toha @ 31 STEAE 2 379 S i e it |

(a) Differentiate between broilers and layers including their management.
(b) Give an example each for indigenous and exotic breeds of poultry.
() What management practices are common in dairy and poultry farming ?

(a)  SICR a7 37 T Jelt TR § 91 SR 87 37 Yoo o Ad ol ot ¥ Fifse |
(b)  FFHE Dl Teh <M a1 Teh foraslt T&1 1 Toh-Teh I3 foafan |
()  TRIUIEH Qe Hape UIe & Ysie Joelt H R T ¢ ?

OR
(@) Mention three ways by which insect pests attack the plants ?
(b) How are they controlled in organic farming method ?
() What will happen when methods like chemicals are used for controlling them ?

@) {9 9 JhR 9 i drew diel W ST FId & 3H1 Seord it |
(b) i Wt fafy # g1 W foRg yeRR e foman s @2
(€ a3 R e um % faw fafy S8 dieshrelt T 13U foha s @ df @ g 2 ?
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Section B
25. The reaction of iron and sulphur to form iron sulphide takes place at :
(@) athigh temperature
(b) in the presence of a catalyst
(c) at moderate temperature

(d) in the presence of an acid

AT TEHIES o9 o AU ST 9 TYeh & Sig TEEies sifafsmar i .
(a) =AU WRI (b)  SCUTH i Sufeerfd H |

(c) ¥=IH A™ W (d) oA I Ifefa # |

26. Tyndall effect can be observed easily in which of the following solutions ?

(@) Salt solution

(b) Sugar solution
() Sand into water
(

d) Hydrochloric Acid
frfafed & 9 emart 9 fre fiea yua fier vear 2
(a) T T forerdq (b) =T o forerEd
©) SRR RGICIRECRE d) CESERIRES 3T

27. Rama took a petridish and added four pinches of sulphur powder and two pinches of
iron filings. Then she divided the mixture in two parts, A and B, heated the contents of
sample B strongly and then moved the magnets on sample A and B.

—Magnet
Mixture

(@) Iron particles cling to the magnet in case of A.
(b) Iron compound in case of B clings to the magnet.
(c) Iron particles cling in both cases A and B.

(d) Iron particles don’t cling in both cases A and B.

3 T Ufefew ot iR Sud =R geant U =0l e SR < g2kl AR+ Sied el | a9
Su Tagor 61 <1 vl o1 qen o H e foar | s a9 1 T T feen oiv Rt dme
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28.

29.

30.

3 A F HW Ik TAE |

(b) TR I AR & H e 9 fade )
(c) Sl 3 T 9 T AR ok U1 galeh § Faden MU |
(d) IHl 3 T 9 H AR ok R Gl § 81 T |

When magnesium is burnt in air, it produces magnesium oxide that appears to be like :
(@) wood ash (b) chalk powder

(c) table salt (d) powdered sugar
STel TS o H Sereht ATREE SAge Sl § 99 98 hHT Fdid Bl © 2
(a) Thel HI T (b) =R UEEX

(©) HIEROT THh (d) =T ST

For the accurate determination of the boiling point of water, we use.
(@) tap water (b) distilled water

(c) saltsolution (d) sugar solution
STl 1 WEl ererleh fenter o forq g8 Swii § o =i
(@) T 1 SA (b)  AEfad S

(c) R o1 fererad (d) =i o forerEd

Which is not a correct precaution to be followed by Vishnu to determine the melting
point of ice ?

(@) Zero mark of the thermometer remains above the ice surface.
(b) Keep stirring the mixture and look at the thermometer.

(c)  Crush the ice into small pieces.

(d) Do not dip the bulb of the thermometer in crushed ice.

It 1 T g ferter & fore fawy 3 i ot Tt ot =i o o ?
(a) W 1 IATH T% H T8 H H FAT =0T |
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(b) fago =i feam qen M 1 T@d w1 A
(€) 9% H Bl gHS H dIg T =fET |
(d) g & ocd hl FT g3 g% H GalhL T8l Wl H1eT |

31.
The adjoining diagram illustrates the method of separation of a mixture of sand
ammonium chloride and common salt. In this diagram the component 1 and 2 after

heating will respectively be :

’__'I

T

(@) (Common salt + sand) and ammonium chloride respectively

(b) Ammonium chloride and (common salt + sand) respectively

(c) (ammonium chloride +sand) and common salt respectively

(d) (ammonium chloride + common salt) and sand respectively

e o o Xd, TIERon 99 9 ST FAREe % gl S fafy gl i g1 fago
T T & 9 T § AR Hesh 1 12 AT B

T
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(a) (HTER THE + W) AU SHTIH FARES
(b)  SAHIFH FANEE 941 (HERT THh + 1)
) (3MIfEH FAREE + ¥d) A1 WIER THh
(d) (T FANES + Hifead FaNEe) a9 |

32.  Which one is not observed when carbon disulphide is added to a mixture of iron
filings and sulphur powder taken in a china dish ?
(@) Sulphur powder dissolves and a yellow solution is formed
(b) Iron filings remain unaffected

(c) Iron sulphide is formed by the combination of iron of the mixture and of CS,.

(d) Solid sulphur reappears when yellow solution is heated

<& A few H AR i Ste iR T & ol & fager § s eiachie faeE s @ ar fre o
T D 1 &0 TE AT ?

(a) Tierk <1 9ol ¥t ST & 1R Uk el faerad o S § )
(b) e I St syafad et €

(c) Thgo & S | CS, o He R AR HewhiEe ol ¢ |
(d) S U foered s T # § @ S e R | T < @t 7

33. Name the gas A released in test tube in the given experimental set up :

b=

<« A
= = =£— Dil H;80,
\0 08 e/— Zn pieces
(@ NO, (b) H,
© O (d) SO,

= < TE SuhTor e H ! ¥ T T A frehal W R 3@ 1 1 M e
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— A

= €7 H,50,
Roge/ e s goe

(@ NO, (b) H,

© O (d) SO,

34. Sand and naphthalene balls were heated together in a china dish. The substance left in the
china dish after heating will be :

(@)  naphthalene (b) sand and naphthalene

() onlysand (d) nothing will be left
T =i figt ot @ielt B Xq 91 TeATel it et s Td fwar . =i gt @t st § s
o qeETd S e ST o B

(@)  AweTeE (b) Y@ T TR

()  waa () F® i 9 T =

35. A student soaked 10 g raisins in 75 mL of distilled water in two beakers A and B. He

maintained beaker A at 20°C and beaker B at 40°C. After an hour, the percentage of water
absorbed will be :

(@) Same in beaker A and B
(b) more in A than in B
() more in B than in A

(d) twice as muchin Basin A

w foeneff 7 10 g foFafier 75 mL g 57 § < el A 3R B H FRid | st A &l 389 50°C &
I W @ 3R skl B 1 100°C W W@ 1 5 o oIS TSRS STel i Yiaerd | gri -

(@) ASIRBHTH A (b) AT BH At
(0 BH AW 3w (d  BH AW

36. Richa was preparing a mount of onion peel for observations before staining.
What was the appearance of onion peel at that time ?

(@) Pink (b) transparent (c) Green (d) Red
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37.

38.

foam st ot fereett o1 gameE gR1 UaTo e & fAT Ase S ot dur o W@ ¥ sififa
T Y T8 TS i ToAeel] et gdid 81 W et ?

() T (b) R (€ = (d)

Sarmad wanted to test the adulteration in arhar dal (tuar dal ). He washed a few grains in
small amount of water. The water became yellow. He put some drops of HCl in a test

tube containing yellow water. The sample turned pink. This shows that :

(@) dal is not adulterated.

(b) dal contains protein

() dal is adulterated with Metanil yellow
(d) dal is coloured with turmeric

TS 3R Tl B SAUMHS0T ] SHi=1 =edl 8 | 35 Tt o <HI A o UHT fHetman | a w1 3
e B T 39 Ui il H $® 9 HCI i STt | 9% AT et T b
2 A1 8 1 8 SR § foh
() e STafafya T2 g
(b) T H WA 7
©) T H HeIfet Il A ST F )
d) T H EeR § MG
Accidentally few drops of iodine solution fell on yellow coloured cotton shirt and few

drops on a white coloured table cloth. The stain on table cloth turned yellowish brown
while that on shirt turned blue black. The most plausible scientific reason for this is that :

(@) shirt was died with Metanil yellow
(b) shirt was starched after washing

() table cloth was starched but not shirt
(d) shirt had absorbed sweat

ST Qe $8 AR faeam #i o et T7 i FHHS W 1R Tthe AT | D T8 |
HSTAIRT W el {1 1 efesll T 741 SR HHiST W el T 1| ZEehl Safl-ieh SR :

(a) HHIST ! T e | 10 T o)

(b) HHTS <Rl 14 o &g = TRl T o1 |
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(©) HSTAIT 1 T2T= TR 7T o g HHTST I e |

(d) HHIS T g @ |

39. Which of the following cell constituents cannot be seen while observing a human cheek cell ?

(@) Nucleus (b) Cell wall
(© Cytoplasm (d) None of these
frfafed § & siF a1 ifSren sime wa St wure wifveR § 71 faar 3m?
(@) Eh (b)  hifereRt fufa
(c) T (hifereht 5=4) (d) STadH q wE T |

40. Which of the following shows parenchyma ?

B2 Thin walled cell % Polygonal cell w Thickened wall
B~ Intercellular cell Angular thickening Empty cell
B C

(@) A (b) B (©) C (d) None of these
frefafea § @ &9 @ faa S gofar 22
AL BT et Fifir fafa
HA A e FifeE
B C
@ A b) B @© C d) ST H FE @

41. A student was asked to identify the process which occurs when the raisins are soaked in water :

(@) Osmosis (b) Plasmolysis
() Endocytosis (d) Diffusion
T forernefl <1 feparfient =61 arft # friie ST o 8 aredt fshan v o forg et e
@ W (b) SteEeTH=H
(0  wemERE (d) formom
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42. The cell body of a nerve cell is called :
(@) cyton (b) axon () neuron (d) dendrite

>Rt ITITRT T RIfRTHT-FT FEad ¢
(a)  WEH (b) TR (©  =RH (d) TgRe
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